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Setld : 47174_95 14Aug18_Batch1 D E
Section 1 - Paperl-General English

1) Choose the correct answer:
He approached the officer with his
letter.

A) audaciously
B) long-lasting
C) coy

5) oy Techofworld.ln

2) Choose the right option to fill the blank:
| have a lot of work, I might still come.

A) eventhough
B) though

C) but

D) so

3) Choose the synonym of the given word:
languish

A) down

B) start

C) deteriorate
D) fantastic

4) Choose the right option to fill the blank:
The two friends shared the pizza
themselves.

A) among
B) against
C) between
D) around

5) Choose the right option to fill the blank:
The rode hard and fast over the plains to meet his
king.

A) nigh
B) night
C) knight
D) nite
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Section 2 - Paperl-Education and General Awareness

B) The intertwined swans in the NCERT logo symbolise the
integration of the three major aspects of the work of NCERT.
These aspects are:

A) Research and training, Synchronization and Advanced
Learning

B) Research and development, Teaching and Distributed
Learning

C) Research and training, Education and Digitalization

D) Research and development, Training, Extension and
Dissemination

6) 1adaRIad 6MIETIER 2Ql YR °d YedaIed RIdia S35
gAY ARG 9916 @A QI | 697 ARIWGER 04 :

A) G984 G 9L, AARNIR! 9° KRG T8I 91
B) c1699€l B 3R18, d9IgeIe @ G6a% aal

C) 96984l 8 g8gd, SRIgele 8 GaoInIReaaq

D) 96284 8 3R, 9898, goIa 8 9

7) Which of the following agencies of Education offers
knowledge which is systematized and classified into
subjects?

A) Society and social functions
B) Schools and Universities
C) Family and friends

D) Peergroups and family

7) GORGe 6 AYIGT gQIe FQARI JRIRISEe e @@
FALEQ FUP ?

A) QIS 6 AT FIUGE
B) GQUIRg 8 T9T4IRE

C) J0QIa @ QgIee

D) AFREE5 W1 98° IR0

8) Which of the following is the CORRECT reason for use of
mica in electric iron?

A) ltis a good conductor of heat as well as electricity
B) It is a bad conductor of heat but good conductor of
electricity

C) ltis a bad conductor of heat as well as electricity
D) ltis a good conductor of heat but bad conductor of
electricity

8) AR VAR 69 IR HLVING AN FANYS IR 6L
FREG A0] 26g ?

A) 421 GID 98l SR §Ea URRI2] 26T
B) 2l 010 QUQQIL @8 §uQ @9 YA
C) 42l QId 92 IQQ 899 ORQIL1 266
D) 2 Q10 YURRIL @F FQIQ §99 QU@

9) Who was the founder of National People’s Party (NPP) ?

A) P A Sangma

B) Mamata Banerjee
C) Naveen Patnaik
D) Sitaram Yechury

9) agin dgq aIF (1edd)a gdaIeI @4 ?

A) G- Qg

B) AAGI QRIS
C) AQIR JFQI0Q
D) QIGIIF 62ga1

10) Which of the following chemicals is used as a food
preservative?

A) Sodium hydroxide
B) Stearate
C) Sodium benzoate
D) Alitame
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10) ¢ LAVS IR FIRYE 679 AALRS AT LS 94 ?

A) 621805 LIRCSIFIAG
B) Geag
C) 6959 69967 1ME
D) aagie

11) In democratic societies, political equality would normally
include

A) providing opportunity for good education and health for
all citizens

B) granting equality on the basis of gender and caste for
all citizens

C) providing absolute equality of wealth or income for all
citizens

D) granting equal citizenship to all the members of the
state

11) 9% QIKIGES AIRER, QUFECTER AFNFS! ARIQEIGE DSl 818@@
@R

A) Q618 QIEIRRT aae J8I 9e° QI IR Y6LIS gRIe
B) Q72 QIGaw disl A6t 6 QIF 2IRIQER AAIRGI gaIR
C) aFg QIEARg A G2l 2I9Q g4 AR gale

D) Qe 9712 duis 9eIR QIS 9eIe

12) Identify the organization which was established by the
UGC in September 1994 for evaluating the performance of
the Universities and Colleges in India.

A) National Board of Perfect Accreditation

B) National Assessment and Accreditation Council
C) Council for Higher Education Accreditation

D) Organization of Accreditation service

12) QIREEQ FITMIRE 6 ARIFMIRACOTR TIFIA IRYITH KOS
aIR 1994 adel 6A6gMa IR 9ET Fial AITE ARSI

QTG 596 @93 |

A) HARIR 6916 AT TR 2ITFETAR
B) 4RI 26ALCFE Ye° AIFE6EAR FINRAN
C) QIRadm oq 2199 Ngeade 2Igeesdq

WtsApp/Call- 8596976190

13) The scheme launched by the MHRD from the year 2014-
15 that aims at providing assistance for Advancement of
Girls participation in Technical Education Initiative is known
as:

A) Stree shakthi
B) Sabala

C) Pragati

D) Mahila sadhikar

13) 2014-15 QdQ AI9Q 4@ Q4 ARIRS FIAl 2R LIRS
64T 6QIFAITA QIF 923 YIYIQ NAY 62RE 65X SV 2°EI524E

IR QARG 69ILIEE F6Rl Fr6e ARING! gIF @4 |

A) 9193
B) 4%
C) 9o&
D) @G YRR

14) The Committee to Advice on Renovation and
Rejuvenation of Higher education in India’ was formed to
review the various regulatory bodies connected with higher
education in 2008-09. Identify this committee.

A) Yashpal committee

B) Sampumanand committee
C) Arun Ghosh committee

D) Chavan's Committee

14) 2008-09 60 IAGER AP AV FIWAE B YIRS AUCR
KIS 699 din 99 2616 Q12! 9F I8 980 960 Fae fane

QYR AR AR G108 FUARYR | <E TR QIF 96 ?

A) G915 SAF

B) agdice @A
C) 2Q4 6518 @AG
D) ear @85
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Section 3 - Paperl-Reasoning

15) If WOUNDS is coded as SDNUOW, then ROUNDS will
be coded as

A) SDNUOR

)

B) SDNUOS
C) SDNUPO
D) SDNUOP

15) 9@ WOUNDS @ SDNUOW QI6R 6113 98 KQIKIRE, 6969,
ROUNDS q &08 6313 92 aUde

A
B
C
D

SDNUOR
SDNUOS
SDNUPO

)
)
)
) SDNUOP

16) Harish is the father of Suman, Ketan and Hiten. Hiten's
wife is the mother of Rohit. How is Suman's father related to
Rohit?

A) Cousin

B) Grandfather
C) Brother

D) Son

16) 25 62088 IS, 6907 18° T600% QITI | 2600w J162688
EQITOT 1l | YO QI EAITSTR FEl 6269 2

A) UL AR
B) aal
C) eIl
D) Q2

17) If WEED is coded as 529252516, CAT is coded as
91400, then HATCH will be coded as

A) 641400949
) 6414009144
) 641400964
)

B
C
D) 641400925

17) 9§ WEED g 529252516 @16%, CAT g 91400 QI6Q 6R1Q
PS FAUIRE, 6061, HATCH F43 6717 @8 9aude

A) 641400949
B) 6414009144
C) 641400964
D) 641400925

18) If ASTRO is coded as YQRPM, then WOLF will be coded
as

A) UMIC
B) UMJD
C) UMJE
D) UMJC

18) 9&¢ ASTRO @ YQRPM QI6Q 6QIR 99 Qa8 6069
WOLF g 808 651 99 ea1de

A) UMIC
B) UMJD
C) UMJE
D) UMJC

19) What is the missing number in the given series?
135, 125, 115, ?, 95

19) 99Q FA6R @ g A°HIT Q4 266 ?
135,125,115, ?, 95

A) 105
B) 95
C) 110
D) 100
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20) If" You go " is coded as 12, " Let's go " is coded as 24,
then " Let's start' can be coded as

A) 22
B) 41
C) 47
D) 42

20) 9@ "You go "Q 12 @I6Q, " Let's go " @ 24 QI6RQ 6@IQ 99
QARG 6062 " Let's start” @ FAQ 6217 98 AAUDR

A
B

O

) 22
) 41
) 47
D) 42

Join Us-' > f
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following is NOT a specific learning
difficulty?

A) Dyslexia

B) Dysphagia
C) Dyspraxia
D) Dyscalculia

21) TR AUQ 6966 Y9 Fae 9@¢ A4 68 ?

A) f1ede 991
B) g@alca @054
C) 98l

D) f1€9&

22) Sometimes teachers appoint fellow students to help
students who find it difficult to cope up academically in
school. These students who help other sare called

A) assistants

B) helpers

C) buddies

D) young teachers

22) 69696967 698 SIRRIFIAIAG AIRIAY TIR 6R66R 818 < 2IF1T
Jaadier A9 K68 6AARIEY YMER UI0g A°g4 @8 AIeE A1F |
2N QI 9QEQI T BIGRIGIE K6 QRIAN ?

A) QLIGQIES

B) QIQINRISIAIES
C) fgeiea

D) 9= d8aciea

23) Which of the following is a suitable way to know the
reason for weaknesses of students in a particular subject?

A) conducting diagnostic test

B) gathering information from parent
C) conducting remedial teaching

D) using feedback techniques

23) 66lIG SR P64 BIGR QIRGIR QRS FESI TIN FIRYS
ARIER 6296 6968 RUYS AR ?

A) 6GQIGR 991Rd 2EASS @GS

B) 6 QIAIGIE OIg 4o A°ge el
C) gomionne 396 2ISAIFs @QS!
D) go@el 65Q1a fith SY9LI0 /a9

24) The term 1Q is the acronym of

) Inter personal Quotient
) Intelligence Quotient

) Intrapersonal Quotient
)

A
B
C
D) Intellectual Quotient

24) gl gal FIG @4l 216g 7

A) QU39S AE
B) 81008

C) 9IQ969 28
D) 6Qlaa %

25) A nurse is highly motivated to serve and she is eager to
learn everything about her profession.Which of the following
laws explains her state of mind?

A) Law of use and disuse
) Law of Effect

) Law of Exercise

)

B
G
D) Law of Readiness

25) @64 @d 6991 959! dinl 99 AQ 60 AR KEEE 1e° 64 &9
6041 Fanea A9RE S4Q AR QYg A6E | OIFQ A6 2elIg
FARYS 694 F9AG QUIS @6Q ?

A) QO6AIG 6 QRUCAIT RFLIQ FOIET
B) galkea @aa

C) g6sR Gae

D) ed@cia Ga¢
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26) The concept of self image and self worth was given by

) Carl Rogers
) Maslow

) Gardner

) Thomdike

26) 2i€] 8 G 217 RYQ 2GS @9 IR AREEM ?

A) Qla 6qIed
B) AQ6Rl

C) qIeaq

D) adielas

27) For a teacher, job satisfaction

A) affects classroom environment
B) certifies effectiveness of teaching
C) improves social efficiency

D) improves moral judgement

27) 964 §3Q QIR QINQ 670 AT

A) 684108 AG6Rd9q gaIfe @6l |
B) dQIQIRQ gRIS9IRslg geIdie @6a |
C) ARG @a3Ig SIS @69 |

D) 656 fdasa QIR 2164 |

28) The Republic is a book written by

A) Plato
B) Sophocles
C) Aristotle

) Socrates

28) 6MIRVR YAR9 6adia & 7

A) Qeal

B) saiecrian
C) 2G68Iow
D) 46964

WtsApp/Call- 8596976190

29) According to which article of the constitution is it a
fundamental duty of individuals to defend the country and
render national service when required?

A) Article 51 (¢)
B) Article 52 ( ¢)
C) Article 51 (d)
D) Article 52 ( d)

29) QRIIFG 684! 211 QLR ZIFFIRG! AAAER 69910 JaT Al
QI 6991 IR FAR J634R BT 66T1RR FRSY 26T ?

A) dial $8 (9)
B) dial $9 ()
C) dIal 88 (a)
D) dIql 89 (@)

30) According to Allport, the main traits that dominate an
individual and shape his behaviour are the

A) cardinal traits
B) central traits
C) secondary traits
D) primary traits

30) ZREATH AGUIR, F68 QBT IR QYR IS° BIF 2GR
gadic *Q2el ASdS @4 268 ?

A) 6450 aLE
B) 695 AQ4l
C) 698 Rsdl
D) glefie aue
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Section 5 - Paperll-Odia Language

31) 6e@ A0Q 40 2RNING PNQ ASAR A6C ?

A) aiee
B) Qe
C) Qe
D) Qe

32) ARV’ 49Q FAQIO AACARIQ A 6Qa |

A) Q@K
g) QM

C) QUARR
p) faQ

33) ARINQE’Q ARIRIA @'Q ?

A TN
p) GRARR
°) Plis]
p) #'9

34) ‘TOTRIR’ YXIQER 69€ TR 42

Ay Q861

5 S9!
c) area

p) 4ol

35) QAR ALQ YOS AL 6QY

P Wi

B) A90Q

c) 2999

D) adeue
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https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

36) ‘a9’ 699 9L A9 ?

A) offe
B) Qe

°) Qaee
D) efalie]

37) 6 §F Q010 ANNCA FRA AYRNIA QAT FIREQ QLA OIQ 9’ QRN ?

p) AERUQERR
B) @QUQres
c) B8YQPeR
D) @2 Qree

- ‘ara1Qe’ 49q S6a8Y aQ @'a?

A) aral

p) arGe
5 a1
D) araiel

‘am’ § QeI a9ua ?
39)

Qeore
aQgeIl

A)
B)
°) aRefe

D) QR QoQ

40 "GUEY" AR T2 - T QIR FIF 609 UREIQ IO
a TIOR Q6R

B) *ARQR
c) 2RI QR
p) Q4 Qe
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; 6Q€ 99 RN Q1 F6ATY 9Q AR QURRO Y OIQ @’4 QRIAN ?

QniQ

42) CRWe 080 a9 ?

A) 88
B) e@al
c) aee
D) 918

43) ‘cala 9a96a AFQl’ 22 9RIa QI A8FQ §8¢ Qal

IC6Q 9§ 96a A
210 asfl @9Q

2QQ 24I6Q agQl
LIRS €29l

A)
B)
C)
D)

44) ‘2Q1IQ QA AR 6L’ A AR QI QLT 526 Qal

) 9199999 QIBAsA agal
p) NI 6AIRIQ SFQ Akl
AIcea AdQl

AQUQ 6AIWAI C'1a

C)
D)

45) QIR QIRIQ QRIAN ?

A) 6QEI0 QIQUEQ AYQ AFQ AR 214
B) 69U 99 FRYAQ FAO TLER LA QI

c) AU QQUER AAIAR AVRIA R A

D) 6w 990 a9Q anaca a°§g Al

JoinUs-' > f
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Section 6 - Paperll-Mathematics

46) The symmetric difference of two sets A and B is

A) (AUB) U (ANB)
B) (A-B) U (B-A)
C)
D)

46) Q@G 629 A e° B 6 9571 289 6208

A) (AUB) U (ANB)
B) (A-B) U (B-A)
C) (A-B) N (B-A)
D) (AUB) - (ANB)

47) What will the amount of Rs 10000 become after 2 years
at the rate of 9% compound interest per annum?

) Rs. 11880
) Rs. 11800
) Rs. 10900
)

A
B
Cc
D) Rs. 11881

47) 10000 91 2 98 060 QIFQ 9% 099F QI LIAER 6763 OF
6297

A) Rs. 11880
B) Rs. 11800
C) Rs. 10900
D) Rs. 11881

48) What is the HCF of 75 and 2437

come
D w oM

48) 75 49Q° 243 Q 91 4I.g 6@6E ?

49) 2:3 @ 2g9Q AQYIe 6208

A) 15:10
B) 12
C) 10:15
D) 3:2

50) What sum of amount gives ¥280 as interest at simple
interest of 0.25% for 2 years?

A) Rs. 50000
B) Rs. 28000
C) Rs. 56000
D) Rs. 54000

50) 6@60 UGCI4 2gea 0.25% AR P 2960 Redsa 280
QI 62 ?

A) Rs. 50000
B) Rs.28000
C) Rs. 56000

) Rs. 54000

D
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51) If tangents PA and PB from a point P of a circle with
centre O, are inclined to each other at an angle 80 degree,
then angle POA is equal to

A) 80°
B) 50°
Cc) 70°
D) 60°

51) 9@ 9466l PA 9e° PB 9@ O 608 29I 909 P 899,80 841
6RIG6R T0LR 98 60 29AI6a 283, 6668 POA QI2l A6 anIe
69@

A) 80°
B) 50°
c) 70°
D) 60°

52) What is the exponent of 2 in prime factorization of 1447

2one
A WO

52) 144 Q 6¢1p@ QQIee Fda6a 2q QIGITT 660 ?

53) V147 + V27 =

A) 21
B) 30

C) 10V3
D) 10v2

WtsApp/Call- 8596976190

53)\147 + V27 =

A) 21
B) 30

C) 10v3
D) 10v2

54) Divide 16 into two parts, such that twice the square of
larger part exceeds the square of smaller part by 164. The
larger part is

A) 9
B) 6
C) 12
D) 10

54) 16 q 997 QIR F08 @, 6096E 164 TIAI 9 VIFQ ITa
98 gl 6816 VITA Q6 OIQ 2@ 629 | 9% VSF 6960

A) 9
B) 6
C) 12
D) 10

55) The smallest square number divisible by each of the
numbers 8, 9 and 10 is

A) 3600
B) 900
C) 129600
D) 360

55) 8,96 10 9604a% FI0I FRITE 620291 §OF 96 Q¢ 6298

A) 3600
B) 900
C) 129600
D) 360



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

56) A tangent PQ at a point P of a circle of radius 5 cm,
meets a line through its centre O at the point Q. If OQ =13
cm. What is the length of PQ?

56) PQ Q46041 5 6f QUQAIF G58 9ax P 9961, 121 6ag O
69 KIREQI 4R 6a3lig Q Ggea fgR 199 0OQ = 13 644, 6963
PQ 6644 660 ?

57) If three parallel lines are cut by a transversal, how many
pairs of angles are formed?

0

2

ooz
D = W=

57) 93 65 AnI2aIR 604 99 AgYE TG 68Q §4, 6G6S 660
691 6Q16l Q& 629 ?

A) 10
B) 3
C) 12
D) 6

58) What is the compound ratio of 16:5 and the subduplicate
ratio of 9:4?

4:5
15

SRz
AAAN

8:
5
]

58) 16:5 @ 6CIRES UGS 98° 9:4 @ AAFYE AU 67667

A) 24:5
B) 48:15
C) 45
D) 41

59) In a group of 50 people, 35 speak hindi, 25 speak english
and hindi. If all people speak at least one language, then how
many speak only english?

A) 25
B) 20
C) 35
D) 15

59) 50 Q&2 9@ g4 69, 35 K8 TQ1 a8, 25 94 N1 8 QUG
QaT | 9E Y64R 1B 2L K160 691G° VIV GIT, 656 6RED Fél
B AR AT gEE?

A) 25
B) 20
C) 35
D) 15

60) The value of 'c' for which the equation ax*+ 2bx+ c =0
has equal roots is

A) alb

B) b%a
C) b%3a
D) b%4a

60) 67 AAFRE ax*+ 2bx + ¢ = 0 IR 'c' ® YRIQ A 7@ OEF

A) ab
B) b%a
C) b%3a
D) b%4a
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Section 7 - Paperll-Social Science

61) Which of the following layers of the atmosphere is
ionized by solar radiation?

A) Exosphere
Mesosphere
Troposphere
lonosphere

— e e

B
Cc
D

61) 3¢ Age 6@ 20 6dla FFad FIQI ALK YD 6TIRAIN ?

A) 499 T4Q /e8AaR

B) 696QIq 4 FRIQEN AaR

C) 65109 &4Q / QI F90a G918 29
)

D) 2o aae

62) Why is terrace farming practised mostly in hilly areas?

) To promote reforestation
) To prevent deforestation
) To prevent soil erosion

)

A
B
C
D) To control overgrazing

62) IGOIR ABFER 6 Q@@ QTR RGO G ?

A) Q91RR80 691QEG Al
B) Germ @14 6QIa@Ig
C) C@xI 9% 6QURSI Al

)
)
)
D) clodigfg faa66a agalq

63) Which among the following Stupas is situated in Madhya
Pradesh?

A) Nagarjunakonda Stupa
B) Amaravati Stupa

C) Kesaria Stupa

D) Bharhut Stupa

63) 26 FUR 696 gUT AXIGELSER 2A9AS ?

A) QRIFE 62141 9
B) 271Q19%1g9

C) 6aQdaIge

D) Qige ga

64) The boundary between the crust and the mantle is
called:

A) Mohorovicic discontinuity
B) Guttenberg boundary

C) Conrod boundary

D) Lehmann discontinuity

64) QI2Y 2GRS , 98° FI4R (91 YUNIR Q1Y UG G2l 6AFIER FRIT
QT ) FIRIER QI ARG GRIAN

A) 67166V ALRES
B) 9691 94 Q1A

C) @6q1Q iql

D) 6Ag 6919 ARG

65) According to the India Energy Portal, which of the
following places is considered to be a good source of
geothermal energy?

A) Puga valley in Ladakh

B) Gulf of Kutch in Gujarat

C) Kurnool district of Andhra Pradesh
D) East coast of Godavari basin

65) QGG 98 6dI5IN QKN FARGS 604 AT RSN IBR 1@
Am 29 Q6S LGS @Al ?

A) QIQIHA oIl AAGYIE

B) JFRISR 98 @0gR

C) 25 g6ad9a agn &Rl

D) 651QI9Q18 693] @ JIGT
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66) Which of the following statements is CORRECT about
composition of the Legislative Council in India?

A) One-sixth members are elected by the teachers of the
State

B) One-twelfth members are elected by the electorate
consisting of graduates of State

C) One-fourth members are elected by the members of
local bodies

D) One-fifth members are nominated by the Govemnor of
the State

66) RINGER FIF TREQ F0R ARIEE F69IR 694 @B & O] ?

-

A) NG 891’8 AT QIR FFR FINS IR FQITC g2T

B) Q- FI0dIrdl AGAY QIR AI0R ARG Fiel 900 62108/
G109 N8R 01 AP g2
C) 99 9geird A2y ARG A0 AFGQ FIal FIFE g21a
D) @ Q8FIPd 90 ARIIIRG Il AR INAE QRIS

67) Which of the following vedas, describe the way in which
religious rituals and sacred ceremonies should be
performed?

A) Rig Veda

B) Atharva Veda
C) Sama veda
D) Yajur Veda

67) FERYG 699gEe g 6aAGeq dfie GGG 6 adg
ARG GTa @aIde, 012l A€l QT8 ?

A) QR 699
B) 2aig 6a@
C) AIF1689
D) ©Ig 699

68) Which of the following political leaders coined the slogan
'Jai Jawan Jai Kisan'?

A) Dr. Rajendra Prasad

B) Lal Bahadur Shastri

C) Subhash Chandra Bose
D) Sadar Vallabhai Patel

68) FIRYE FUQ 67Q AIFCTER 636! ‘T4 ARIR 84 FHIS’ 69/9IR
LIPA 69RYER ?

A) @l Qg 9AQ
B) AR QIZI9Q ST
C) 991Q 95 6918

)

D) QL1Q 9@ QIR U60R

69) The term 'Constitution' is derived from which of the
following languages?

A) Sanskrit
) Persian
) Greek

)

B
C
D) Latin

69) 626 RUWIQ 'Constitution'(QfIR) 995 21T ?

A) e
B) aidi
C) g

D) QI

70) The bill which sought to grant the Indian judges same
powers and status as any of their European counterparts
was opposed by the British residents in India. Identify this
bill.

A) Rippon Bill
B) libert Bill
C) Arms Act
D) Rowlatt Act

70) QIQSIE TRROFKIIRG Y60 FORAGE AAFRY BASI 6
AR 6991 MIT 2ITEQ1 4 TR § NAGER Qg2 QI §TY 2RXQIAIER
Geall @GgeR | 9121 699 &R, ?
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71) According to the Indian Constitution, what is the age
criteria for a person to be appointed as the Governor of
state?

A) He or she must have completed 35 years of age
B) He or she must have completed 25 years of age
C) He or she must have completed 28 years of age
D) He or she must have completed 32 years of age

71) QSR ARG AFAIX], AMQ AMAR TS 6291 AR
QUGS BTG K 629! TR ?

A) Qg B8 @16 35 QR 2/G QAd 62102
B) oI H30 Q168 25 9UQ AR S0d 621889
C) ol SRC QIER 28 QUQ 2R 0D 621RYQ
D) oIf G50 QIS 32 QdQ 2@ A0d 62182

72) The summer solstice in the northern hemisphere is in the
month of:

A) June
B) March
C) September
D) December

72) Q89 69IRINEA g1Y 2RI 6K AIA6A 4, Qg 6aml :

A) 99
B) QI
C) 626999
D) @6aqQ

73) Which of the following options divide the earth into
Eastern and Western hemispheres?

A) Prime meridian
B) Arctic Circle

C) Equator

D) Tropic of cancer

73) G618 666 UIg AR 9Q° 284 6AINITER YU FRelN ?

A) gIe 60864 (G] G gEian)
B) 4611 9@

C) Qg9 6l

D) /6% 918

74) Which of the following parallels of latitude is situated in
the 23 degree N?

A) Arctic Circle

B) Antarctic Circle

C) Tropic of Capricorn
D) Tropic of Cancer

74) G648 AAIAIR AAPE AIRE U9 6R46 23 G9! QA6
2080 ?

A) 9671 Q@
B) 9611 98
C) aea 918
D) @e¢ Q&

75) The concept of Directive Principles of State Policy was
borrowed from the:

A) lIrish Constitution

B) American Constitution
C) British Constitution
D) Geman Constitution

75) QIgY 9150 Feaae deie @aIfq 699 dAMISQ 2GRS ?

A) ZigiRia Mg
B) 2leqaal afalg
C) §54 Qfalie

D) @€l qRaIe
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Section 8 - Paperll-Science

76) Which of the following disease is caused by bacteria?

A) Dengue
B) Aspergillosis
C) Tetanus
D) Filariasis

76) G699 60 6aIG Q@Ig / I 62IR2AN ?

>

) 668

B) @lsaddenidq
) Seieg

) TIRERRE

9]

D

77) Most Probable Number (MPN) test of water indicates the

) presence of mercury in water

) presence of uranium in water

) presence of coliform bacteria in water

) presence of magnesium, phosphorus and nitrogen in
water

A
B
c
D

77) G99 6918 6GI69GR G918 (YATR) 9R188 Q8 oI

A) Qidi6a gReq 9ads

B) Q1§i6q 291596 Q Q8%

C) Qifica 6aIRad S19Ke R0dd

D) Qidiea cuieados, aacrad ¥e° 2etIasia Rads

78) Which of the following is the CORRECT statements for
Van der Waals forces?

A) Van der Waals forces does not exhibit any changes in
magnitude nor in dispersion forces

B) Van der Waals forces vary considerably in magnitude
and include dispersion forces

C) Van der Waals forces vary considerably in magnitude
and does not include dispersion forces

D) Van der Waals forces exhibit constant magnitude and
include dispersion forces

78) 364119 69616 QIR 699 4. oF §aaca A0} IV 6P

A) QIR 6QQ AR, 9@ AAAIKISE B¢l TS AREa 6@1EIA
JGRER QAN QIF

B) QI 69 Gif. 97 6% QIR UG 29 6 J68A R
UL R6Q

C) GIR 69Q €}, oF J62Y VIER IR 39 G T6AT4 aRg
2P R6Q QIF

D) 9I] 624 @R, 97 96AI86a ARG @4 9e° 688 @R
2SHD A6a

79) Which of the following statements is TRUE about
passive transport?

A) Movement of molecules across the membrane with the
use of energy

B) Movement of molecules across the membrane without
the use of energy

C) Endocytosis is a type of passive transport

D) Sodium Potassium pump is a type of passive transport

79) 6718 609 63 F§a afieas Ta96a ATY 26T ?

A) 93 QIQTI0 @ FR1 640 2¢ YT OF

B) SR16@ QUQLIRER SR 66 84 JFaa oI

C) 164 QIm6e1dY 9@ IFa Atiees 26e

D) sQIE2q saIg1dele ast e f80 afees 26s

80) The vegetative part of a fungus, consisting of a mass of
branching, thread-like hyphae is termed as

A) spores
B) mycelium
C) septum
D) cap
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80) @eaq AN 2°EgERca YR dIsl aZalN, 46l 98 LRTIG
@8 QeI

A) 608
B) QIQsaRas
C) 6299
D) «ug

81) A pair of yak exerts a force of 180N on its cart. Calculate
the work done to carry the cart towards its destination 20m
ahead.

A) 1800J
B) 3600J
C) 24004
D) 4200J

81) 267 2A1Q1 SR FIGRAER 180N @F J6RIs @98 120m 9a6a
29I NAILRG 9B FIGTG T8 6591 2GRS FII] A FID
aa |

A) 18004

B) 3600J
C) 2400J
D) 4200J

82) The ideal gas equation is PV= nRT, what does 'n’
represents from the given equation?

A) number of neutrons
B) number of moles
C) number of atoms
D) number of bonds

82) Y@ 2IGd SuIAlE AAIeRd 62@8 PV= nRTI 3& <@
AAIRAGER N’ STEM V'€ I ?

A) QISR/RNQIG Sl
B) 67im Qe

C) Qeslig Qs

D) Qg Q9|

83) A container has 20.0 L Nitrogen at 2.5 atm pressure, and
another container has 10.0 L of oxygen at 2.0 atm pressure.
Temperature of both gases is 300K. If both of them are
mixed in a 15 lit container, what will be total pressure and
partial pressure of oxygen, respectively in the container, at
300K temp?

A) 4.50 atm and 2.0 atm

B) 4.72 atm and 1.44 atm
C) 4.68 atm and 1.34 atm
D) 4.39 atm and 1.76 atm

83) 601G @°652@6Q 2.5 atm QIK6Q 20.0 L F9@I0g1a, 9Q° 2IaY
69115 @°60ea6a 2.0 atm @196a 10.0 L 218 2T | a9 SHIg
Q SIIAIgl 300K | 98 eELq 99 15 ACQ @Eeaasa fdia
Gelan, 6969 300K QIIAIGE LAIGEs AERINE 6718 6 arde
QI 6963 689 ?

A) 450 atm 9e* 2.0 atm

B) 4.72 atm 9@*° 1.44 atm
C) 468 atm 99° 1.34 atm
D) 4.39 atm 9Q° 1.76 atm

84) Motion is defined as

A) change in time and distance

B) change in mass of an object over time
C) change in position of an object over time
D) change in speed over time

84) 98 Q AR 62 ;

A) Q9% NQ° 9ORA JRER

B) 695" 99 9gQ AA9 9671 I0RE 629
C) QFR 9671 IR AAT6Q AGRAR

D) Q9 9661 @gQ 6a96Q TRRER

85) Water gas is a mixture of carbon monoxide and

A) hydrogen

B) carbon dioxide
C) nitrogen

D) oxygen
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85) @916l Q19 6268 FIGR ACRIRARNG IQ° - 99 Figed

A) 20919
B) 2sHaac),
C) JQRISIR
D) @qRIe

86) The energy that is most likely to be possessed by the
water that is stored in huge tank is

A) sound energy
B) electrical energy
C) kinetic energy
D) potential energy

86) U@ 92C SUIw F1:6Q TATC IF6R gl 93 6TQE

A) 90 98

B) @Qie 4@
C) 9&a 9a
D) §0¢ 63

87) Ribosomes are the sites of protein synthesis in the cells
and are chiefly composed of

A) ribonucleic acid

B) xanthophyll pigments
C) deoxyribonucleic acid
D) chlorophyll pigments

87) Q6Q164I¢] 620E 6RIT6R 6915 A 602 L°6ETE A LIR 4S° 1a
&4e8 QIRl FIQl G0 62102 QIR 62 -

A) F6RIQUeRAR ITQ

B) @6a1dn edadl

C) @2UFARIQUeRRR 1&Q
D) 9g 26Q a¢edl

88) Which of the following specific characteristics are found
in Monocots?

A) The leaves have a reticular venation

B) The seed of a plant is made up of two cotyledon
C) The vascular bundles are arranged in a ring form
D) The leaves have a parallel venation

WtsApp/Call- 8596976190

88) IRAIFUYI6Q F6YIB FRIQ 699 Fas FCATQ 9FF ?

A) 999609 FINFY JRRMI 688

B) 92% Q1% §aF QIeagea 3213

C) QI8 gP9 COIMIFIR QUER AR 621 T8
D) d99e@a Al Jakeua a8

89) What is hilum which is present as a scar on the seed
coat?

A) _through which developing seeds were attached to the
g;mthrough which developing seeds were attached to the
rCo)mthrough which developing seeds were attached to the
lls)t;a?hrough which developing seeds were attached to the
ea

89) FIBQ QUQ 2°A6Q IR 0F QI "ERr|" 98 26T ?

A) QI2l QI FRIQ 629l B IR A2 A°REl 62IR2N
B) <I2l 910 399G 62089l A8 fR A2 ARSI 61K
C) QI 91 9996 6292a| A& Q14 AT I°REl 621K
D) QIgl 9o S8 6202Ql O A8 AT A°RE 6TIR2N

90) What is the chemical name of baking soda?

A) calcium bicarbonate

B) sodium hydrogen carbonate
C) calcium oxide

D) sodium hydrogen chloride

90) 6956 62IPIR QIARTD 1A K67

A) 24adan QIR QI6SI6Re

B) 64320 QIR6LI68R FI6RIERT
C) YR agIee

D) 6QIGel SIR6RIERR 6RIURR
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Question Paper No: 47174 95

Answer Key
1. A 3. B 61. D
Ze €& 35D 62 €
3. © 33. € 63 D
4. C 34. B 64. A
5. C 35.D 65 A
6. D 36. C 66. B
. & 3. D 8, 1D
8. D 38. C 68. B
9. A 39.D 89. D
10. C 40. A 70. B
11. D 41. C 71. A
12. B 42, B 72. A
13. € 43.€C 73. A
14. A 44. B 74. D
15. A 45. D 75 A
16. B 46. B 76. C
17, € 47. D 77 €
18. B 48. C 78. B
19. A 49. C 79. B
20 C 50. C 80. B
2. B 51. B 8%1. B
22. € 52.€ 82, B
23. A 3. C 83, C
2. B 54. D 84. C
25. D 55. A 85 A
26. A 56. A 86. D
27. A 57.D 81 A
28. A 58. A 83 D
29. C 59. D 89. A
30. A 60. B 90. B
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